Potencias de 10

@)

6.1389 +0.1

3.1991 0.1

7.6408 0.1

9.1161 +0.1

1.8166 0.1

1.2865 0.1

1.66+-0.1

3.901 0.1

6.0226 0.1

8.3148 +0.1

Calcule los siguientes cocientes.

5.3643 +0.1

5.1215+0.1

7.2473 0.1

8.877+0.1

4.0063 0.1

47168 0.1

8.3762+0.1

7.5291 0.1

4.8898 0.1

8.609 0.1
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Potencias de 10 (I) Respuestas

6.1389 0.1
61.389
3.1991 0.1
31.991
7.6408 0.1
76.408
9.1161 +0.1
91.161
1.8166 0.1
18.166
1.2865 0.1
12.865
1.66=-0.1
16.6
3.901 0.1
39.01
6.0226 +0.1
60.226
8.3148 +0.1
83.148

Calcule los siguientes cocientes.

5.3643 +0.1
53.643
5.1215+0.1
51.215
7.2473 0.1
72.473
8.877-+0.1
88.77
4.0063 =0.1
40.063
4.7168 0.1
47.168
8.3762 0.1
83.762
7.5291 0.1
75.291
4.8898 +0.1
48.898
8.609 0.1
86.09
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